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Which is the largest U.S. state by land area?

http://www.mapsofworld.com/usa/usa-state-and-capital-map.html
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http://www.worldatlas.com/aatlas/infopage/usabysiz.htm
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http://www.yachtalaska.com/pages/sealaska/maps.html

Don’t mess with Alaska!
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Tim Cook is Cooking His Graph!

http://qz.com/122921/the-chart-tim-cook-doesnt-want-you-to-see/
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This looks less cool, but less misleading.

http://qz.com/122921/the-chart-tim-cook-doesnt-want-you-to-see/
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https://www.youtube.com/watch?v=ETbc8GIhfHo
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70% + 63% + 60% = ?
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Can you guess the source of this?

http://mediamatters.org/blog/2014/03/31/dishonest-fox-charts-obamacare-enrollment-editi/198679
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2 X 2 = 4, not 2!

A
$500

B
$250

A
$500

B
$250

WIDTH of A is twice width of B, 
but AREA of A is 4x area of B!
Overstates relative value by 

factor of two! 

WIDTH of A is 1.4x width of B, 
so area of A is now 2x area of B!
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https://infoactive.co/data-design/ch18.html

Which company is the market leader?



12MIS 0855 Spring 2015 – Day 17 – Avoiding Data Distortion

MIS 0855 – Data Science Min-Seok Pang – Feb.20.2015

https://infoactive.co/data-design/ch18.html
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